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SNARZZ AT DR D (CEREUTE.

Vi, = B, - tB&f - 0.001 + B3 - Swaik + Ba Ocar + 3
V, = B, - tB&f - 0.001 + a,
Vs = By - EEEE - 0.001 + az
V, = B, - IE&E - 0.001

Vs = By - EEREE - 0.001 + B3 Swaie + Ba* Ocar + Qs
Ve = By - EEREE - 0.001 + B3 Swaie + Ba * Ocqr + g
V, = B, - EEE# - 0.001 + S, - 67y, + B4 Spqr + 7
Vg = By - BEHEfE - 0.001 + B4+ Ooqr + ag

SruKEEX I — (KBRS 1,ZNUNL0)
Swa: FEE X T — (RER SEEBRAESAD 1, ZNLNLO0)
Seqr: BENEX = — (RERXBFENVBEELS 1, TNLUNES0)
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INRSE(C(FBFGSZFHUYZ.

al=-{Dpatal,21]'=420)+(Datal,21]==420)"(Dpatal,15]=5000)
aZ<-{Datal[,21]'=420)+(Datal,21]==420)*({Datal,16]<=5000)
ald<-{Dpatal,21]'=420)+(Datal,21]==420)*({Datal,17]=5000)
ad<-{(Datal,21]'=420)+(Dpatal[,21]==420)*(patal[,18]<5000)
as=-{(Datal,21]'=420)+(Dpatal,21]==420)*(Dpatal,13]=5000)
ag<-{Datal[,21]'=420)+(Datal,21]==420)*({Datal,14]=5000)
ar<-{Datal[,21]'=420)+(Datal,21]==420)*({Datal,19]=5000)
aB<-(Dpatal[,21]'=420)+(Dpatal[,21]==420)*(Dpatal,20]<5000)

des5202<-al*exp(dl*patal,15] /1000 +d7*walk +d8*car+bl*matrix{1l,nrow=hh,ncol=1))
des5204<-a2*exp(dli*Dpatal,16] /1000 +b2*matrix(1,nrow=hh,ncol=1))
des5206<=-a3*exp(dl*Datal,17],/1000 +b3I*matrix(1l,nrow=hh,ncol=17)
des5208<-ad“exp(dl“Datal,18] /1000 )
des5212<-a5*exp(dl*patal,13] /1000 +d7*walk +d8*car+b4*matrix(1,nrow=hh,ncol=1))
des5213<-ab6“exp(dli“Dpatal,14] /1000 +d7*walk +d&*car+b5*matrix (1, nrow=hh,ncol=1))
des5272<=-a7 exp(dl*Datal,19] /1000 +d5%Tue +dB8*car+b6*matrix(1,nrow=hh,ncol=1))
des5303=-aB%exp(dl®patal,20] /1000 +dB8*car+b7*matrix (1, nrow=hh,ncol=1))

deno=-{des5202+des5204+des5206+des5208+des5212+des5213+des5272+des5303)




MNLIEE HEER-R

=1y = S TE
o cmE 57 ape AR
3 v
< S X3 1 2 3 5 6 7 8

INTA—RZHEFE -0.849 1.812 0.956 1.567 1.130 0.623 0.341 1.600 0.731 0.958 1.071

tf€ -10.610 3.960 2.595 2.281 2.057 0.701 0.533 2.928 1.308 1.682 1.893

p? =0.297

> print{L0)
[1] -568.6038
> print{LL)
[1] -388.8343
= print{{LO-LL)/LO)
[1] 0.3161596
= print{{LO-(LL-Tength({k)))/L0D)
[1] 0.296814
= print(h)
[1] 1.1302188 0.6226336 0.3414119 1.6000092 0.7310363 0.9580380 1.0706952 -0.8491117 1.8119226
[10] ©0.9559079 1.5670082
= print{tval)
[1] 2.05672586 0.7013097 0.5332919 2. 9278287 1. 2080057 1.6821966 1.8933705 -10.6097502
[9] 3.9597570 2.5954942 2.2806020
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hessian

1 34.74666202

10

11

0.06988141

1.46295345

17.42573966

7.42708441

3.78803441

2.92891579

0.60649514

1.12638995

-1.63868066

-1.38452667

0.069881409

2.160318672
0.004118561

0.351683596
0.148806038
0.812710013

0.769541572
4.370993523

0.112328465
0.035535052

1.755802870

1.462953449

0.004118561

4.379595893_
1.314181141
0.682750027
0.325206571

0.220325710

0.171255500
0.109573989
0.522542990

1.427708710

17.4257397

0.3516836

1.3141811

-56.6988697

16.3874015

10.9088513

8.8631829

-1.8849124

2.6269373

-5.8143337

-1.1757564

7.427084

0.148806

0.682750

16.387401

-33.903035

4.899036

3.720043

3.691418

1.214738

-2.309567

-0.523268

3.7880344

0.8127100

0.3252066

10.9088513

4.8990356

-29.7113975

8.6523703

-4.0977606

-6.2339255

4.8297548

-0.8636799

2.9289158

0.7695416

0.2203257

8.8631829

3.7200426

8.6523703

-25.3829169

-2.8958598

0.9214991

3.6295699

-0.8237982

0.6064951

4.3709935

-0.1712555

-1.8849124

3.6914185

-4.0977606

-2.8958598

176.2465277

-4.7848016

3.0380862

-7.5954774

1.1263900

0.1123285

0.1095740

2.6269373

1.2147383

-6.2339255

0.9214991

-4.7848016

-6.2339255

1.4567773

-0.1249758

-1.63868066

0.03553505

0.52254299

-5.81433375

-2.30956735

4.82975484

3.62956990

3.03808616

1.45677730

-9.76258224

0.00000000

-1.3845267

1.7558029

1.4277087

-1.1757564

-0.5232680

-0.8636799

-0.8237982

-7.5954774

-0.1249758

0.0000000

-4.7710295
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Dijkstrai:

21D D 1— RTDijkstraZ)LIUX L%ZEEITT D.

ifTUIC & 2 H/IMED LB & BT

zearchim, ori, des):

max_cost = { ]
unchecked = [ 1 # m_node
cost = [max_cost] # m_node
f_prev = [None] # m_node
cost [ori] =

f_prevlori] = ari

now = ari

min = max_cost
next = -
unchecked [now] =
i [
unchecked[i]:
mrow] [i]:
tmp_cost = mlnowl [i] + cost [now]
cost [i] » tmp_cost:
cost [i] = tmp_cost
f previ]l = now
min » cost[i]:
min = cost [i]
next = i
now = next
next == -

{get_pathiori, des, f_prew), cost[des])
[get_pathiori, des. f_prev). cost[des]]

2. heapE®Y 2 —LIZ L B HB/IMEER

Dijkstral TR
dijkstra( adj, start, goal=None):
num = lenfadj}
dist = [i ( ! (nun)]
prev = [ { 1 {rum)]
dist [start] =
q= 1]
heapa.heapeushia. (0. start))

(q) != 0z

prov_cost, src = heapa.heappopia)

dist [sre] < prov_cost:

dest (num )
cost = adj [sre] [dest]
cost 1= Cinf) and dist [dest] > dist[src] | cost
dist [dest] = dist[sre] + cost
heapa.heappushie, (dist [dest]. destl)
prev(dest] = sro

-zet_path(zoal, prev)
dist

zet_path( zoal, prev):

path = [zoal]
dest = zoal

prevdest] |= {
path.appendiprev[dest])
dest = prev[dest]

{ (path))

24



IDij kstrajk

Dijkstraik[C K DRIBRR(CK D, LUITFTORBRMES
nic.

Befr O — FICK 5HER t—7BEICL SR

[0, 0] 0 [0] 0

[0, 142. 2065 [0, 1] 142.20E5

[0, 1, 7] 456.B776 [0, 1, 2] 4GE.6726

[0, 3] 239.6230: [0, 3] 89.6880:

[, 1., 4] 347.0225 [0,

[0, 1, 2, 5] B38.04425 [0, 1, 2, 5] 628.04425

[0, %, B] 463.5701: [0, 3, B] 463.57014

0314
L

ahhd

[0, . &, 7] 702.7331: [0, 3, &, 7] 702.7
[0, 3, B, 7. 8] 231.93h5: [0, 3, 6, 7. 8] 841

Process finished with exit code 0
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jEakdi: B
100 P27 92" 70

Vi=ﬁ1’61’ +ﬁ3'51'%E¢E+ﬁ4‘52'%ﬁ7r§+ai
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| Dijkstrask TR

B B SRS
5O 50mMLE  50mARE  50mME
NTA—ZHEEE -0.097912 -0.9112354 0.30412457 0.430363
tfE -4.85e-05 -4.51E-04 1.32E-04 1.86E-04

1 2 3 4 5 6 I

0.21206463 -0.093127 0.34787195 0.1432542 -0.1130782 -0.535632 -0.833199
2.11E-05 -1.74e-05 3.27E-05 1.46E-05 -1.09€E-05 -7.20E-05 -1.56E-04

2 _
> print(L0) p 0.110
[1] -103.9721
= print(LL)
[1] -81.5293%
= print((LO-LL)/LO)
[1] 0.2158534
= print((LO-(LL-Tength(b)}})/LO)
[1] 0.1100558
= print(b)
[1] ©0.21206463 -0.09312711 0.34787195 0.14325415 -0.11307823 -0.53563163 -0.83319878 -0.09791203 -0.91123544
[10] 0.30412457 0.43036300
= print{tval)
[1] 2.110415e-05 -1.737396e-05 3.268545e-05 1.462480e-05 -1.091157e-05 -7.198356e-05 -1.561034e-04
[B] -4.847103e-05 -4.511052e-04 1.3150092-04 1.B860853e-04

-



| Dijkstrakx  H#ERER

hessian

1 -9.0165430 0.59737988 2.51430790 3.6868328 0.17563650 1.0560655 0.166716866  13.285339 5.500634e+8 7.241565e+8 1'3760856+g

2 0.5973799 -2.76466488 0.29352664 0.8932110 0.08380832 0.3784701 0.085836941  -1.027057 _9'797845(;31_ 3.922564e+g 5’7759020‘22_

3 2.5143079 0.29352664 -5.73099249 1.8384474 0.08559759  0.5207131 0.080948325 7.661282 5.244349e+8 1.052027e+(1) 1'46857SE+(1)

4 3.6868328 0.89321105 1.83844744 -10.0289145 0.30287836  1.4754229 0.304816485 6.462710 6.976871e+0 1.377490e+0 1.372761e+0
0 1 1

5 0.1756365 0.08380832 0.08559759 0.3028784 -0.96974026 0.1337486 0.031112808 -1.146798 -1'660416;:[ 4.277460e+g 1'55726651-

6 1.0560655 0.37847008 0.52071305 1.4754229 0.13374859 -4.3887709 0.136623473  -1.918626 2.207920e+0 6.232945e+0 2.407295e+0

0 0 0

- -9.762696e- 1.470646e+0 2.925781e-

7 0.1667169 0.08583694 0.08094833 0.3048165 0.03111281 0.1366235 | o oray 2797994 02 0 03

8 13.2853392 -1.02705701 7.66128187 6.4627098 -1.14679830 -1.9186258 * .161.931181 000000840 ¢ 2673040 000000040

2.797994473 0 1 0

- ~ -3.552714e- -

9 5.5006338 -0.97978448 5.24434897 -6.9768713 -0.16604161 -2.2079204 0.000000 3.060975e+0 4.373947e+0

0.097626955 1 09 1

10 7.2415648 3.92256390 10.52027252 -13.7749034 4.27745967 -6.2329447 1.470646406 -67.467732 '3'552714;_; 1.266907e+0 '3'552714:9‘
2

~ -3.552714e- .

11 13760848 0.05775902 14.68574628 -13.7276087 0.15572660 -2.4072948 0.002925781  0.000000 4.373947e+0 0g 9-335907e+0

1 1
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